
Enq 
sno Material code

ANNEXURE D2 PRICED ITEM ANNEXURE ::ENQUIRY 3890582E : 
Item Description

Qty Unit Quoted 
Currency

Exchange 
Rate

Unit rate in 
Quoted 
Currency

Unit rate 
in INR

Total rate 
in INR

1 RFW904650001
150MM LTCT 2MM THICK-NTPC (SH. NO- 2 OF 11 DRG NO 3-00-115-40205 & 
SPEC - TECI:NTPC:CT:013:REV04) 4680 NO

2 RFW904650002
150MM PTCT 2MM THICK-NTPC (SH. NO 3 OF 11 DRG NO 3-00-115-40205 & 
SPEC - TECI:NTPC:CT:013:REV04)        1040 NO

3 RFW904650003
300MM LTCT  2MM THICK-NTPC  (SH. NO 2 OF 11 DRG NO 3-00-115-40205 & 
SPEC - TECI:NTPC:CT:013:REV04)      2990 NO

4 RFW904650004
600MM LTCT 2MM THICK-NTPC  (SH. NO 2 OF 11 DRG NO 3-00-115-40205 & 
SPEC - TECI:NTPC:CT:013:REV04)       7618 NO

5 RFW904650005
600MM PTCT 2MM THICK-NTPC  (SH. NO 3 OF 11 DRG NO 3-00-115-40205 & 
SPEC - TECI:NTPC:CT:013:REV04)       2522 NO

6 RFW904650006
COUPLER PLATE 3MM THICK (WITHOUT FASTENER)- NTPC (SH. NO 2 OF 11 DRG 
NO 3-00-115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 45584 NO

7 RFW904650007
RIGHT HAND REDUCER 600MM TO 300MM (LTCT)  (SH. NO 4 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 130 NO

8 RFW904650008
RIGHT HAND REDUCER 600MM TO 150MM (LTCT)  (SH. NO 4 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 156 NO

9 RFW904650009
LEFT HAND REDUCER 600MM TO 300MM (LTCT) (SH. NO 4 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 130 NO

10 RFW904650010
LEFT HAND REDUCER 600MM TO 150MM (LTCT) (SH. NO 4 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 130 NO

11 RFW904650011
TEE CABLE TRAY (LTCT) 600MM (SH. NO 4 OF 11 DRG NO 3-00-115-40205 & SPEC 
- TECI:NTPC:CT:013:REV04) 325 NO

12 RFW904650012
CROSS PLAN (LTCT) 600MM (SH. NO 5 OF 11 DRG NO 3-00-115-40205 & SPEC - 
TECI:NTPC:CT:013:REV04) 65 NO

13 RFW904650013
RIGHT HAND REDUCER 600MM TO 300MM (PTCT) (SH. NO 6 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 65 NO

14 RFW904650014
RIGHT HAND REDUCER 600MM TO 150MM (PTCT) (SH. NO 6 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 260 NO

15 RFW904650015
LEFT HAND REDUCER 600MM TO 300MM (PTCT) (SH. NO 6 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 40 NO

16 RFW904650016
LEFT HAND REDUCER 600MM TO 150MM (PTCT) (SH. NO 6 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 200 NO

17 RFW904650017
TEE CABLE TRAY (PTCT) 600MM (SH. NO 6 OF 11 DRG NO 3-00-115-40205 & 
SPEC - TECI:NTPC:CT:013:REV04) 130 NO

18 RFW904650018
CROSS PLAN (PTCT) 600MM (SH. NO 7 OF 11 DRG NO 3-00-115-40205 & SPEC - 
TECI:NTPC:CT:013:REV04) 130 NO

19 RFW904650019
90 DEG. VERTICAL BEND (INSIDE) (LTCT) 600MM (SH. NO 8 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 260 NO

20 RFW904650020
90 DEG. VERTICAL BEND (OUTSIDE) (LTCT) 600MM (SH. NO 8 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 260 NO

21 RFW904650021
90 DEG. VERTICAL BEND (INSIDE) (PTCT) 600MM (SH. NO 9 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 130 NO

22 RFW904650022
90 DEG. VERTICAL BEND (OUTSIDE) (PTCT) 600MM (SH. NO 9 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 130 NO

23 RFW904650023
90 DEG. HORIZONTAL BEND (LEFT) (LTCT) 600MM (SH. NO 8 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 390 NO

24 RFW904650024
90 DEG. HORIZONTAL BEND (RIGHT) (LTCT) 600MM (SH. NO 8 OF 11 DRG NO 3-
00-115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 390 NO

25 RFW904650025
90 DEG. HORIZONTAL BEND (LEFT) (PTCT) 600MM (SH. NO 9 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 130 NO

26 RFW904650026
90 DEG. HORIZONTAL BEND (RIGHT) (PTCT) 600MM (SH. NO 9 OF 11 DRG NO 3-
00-115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 130 NO

27 RFW904650027
RIGHT HAND REDUCER 300MM TO 150MM (LTCT) (SH. NO 3 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 260 NO

28 RFW904650028
LEFT HAND REDUCER 300MM TO 150MM (LTCT) (SH. NO 3 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 260 NO

29 RFW904650029
CABLE THOUGH (SH. NO 10 OF 11 DRG NO 3-00-115-40205 & SPEC - 
TECI:NTPC:CT:013:REV04) 65 NO

30 RFW904650030
M8 X 20 MM SCREW (SH. NO 02 OF 11 DRG NO 3-00-115-40205 & SPEC - 
TECI:NTPC:CT:013:REV04) 729332 NO

31 RFW904650031
 M8 NUT  (SH. NO 02 OF 11 DRG NO 3-00-115-40205 & SPEC - 
TECI:NTPC:CT:013:REV04) 729332 NO

32 RFW904650032
M8 WASHER (1ST=2NOS)  (SH. NO 02 OF 11 DRG NO 3-00-115-40205 & SPEC - 
TECI:NTPC:CT:013:REV04) 729332 ST

33 RFW904650033
300MM PTCT 2MM THICK-NTPC (  (SH. NO 03 OF 11 DRG NO 3-00-115-40205 & 
SPEC - TECI:NTPC:CT:013:REV04) 180 NO

7 RFW904650007
RIGHT HAND REDUCER 600MM TO 300MM (LTCT)  (SH. NO 4 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 130

8 RFW904650008
RIGHT HAND REDUCER 600MM TO 150MM (LTCT)  (SH. NO 4 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 156

9 RFW904650009
LEFT HAND REDUCER 600MM TO 300MM (LTCT) (SH. NO 4 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 130

10 RFW904650010
LEFT HAND REDUCER 600MM TO 150MM (LTCT) (SH. NO 4 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 130



Enq 
sno Material code

ANNEXURE D2 PRICED ITEM ANNEXURE ::ENQUIRY 3890582E : 
Item Description

Qty Unit Quoted 
Currency

Exchange 
Rate

Unit rate in 
Quoted 
Currency

Unit rate 
in INR

Total rate 
in INR

11 RFW904650011
TEE CABLE TRAY (LTCT) 600MM (SH. NO 4 OF 11 DRG NO 3-00-115-40205 & SPEC 
- TECI:NTPC:CT:013:REV04) 325

12 RFW904650012
CROSS PLAN (LTCT) 600MM (SH. NO 5 OF 11 DRG NO 3-00-115-40205 & SPEC - 
TECI:NTPC:CT:013:REV04) 65

13 RFW904650013
RIGHT HAND REDUCER 600MM TO 300MM (PTCT) (SH. NO 6 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 65

14 RFW904650014
RIGHT HAND REDUCER 600MM TO 150MM (PTCT) (SH. NO 6 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 260

15 RFW904650015
LEFT HAND REDUCER 600MM TO 300MM (PTCT) (SH. NO 6 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 40

16 RFW904650016
LEFT HAND REDUCER 600MM TO 150MM (PTCT) (SH. NO 6 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 200

17 RFW904650017
TEE CABLE TRAY (PTCT) 600MM (SH. NO 6 OF 11 DRG NO 3-00-115-40205 & 
SPEC - TECI:NTPC:CT:013:REV04) 130

18 RFW904650018
CROSS PLAN (PTCT) 600MM (SH. NO 7 OF 11 DRG NO 3-00-115-40205 & SPEC - 
TECI:NTPC:CT:013:REV04) 130

19 RFW904650019
90 DEG. VERTICAL BEND (INSIDE) (LTCT) 600MM (SH. NO 8 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 260

20 RFW904650020
90 DEG. VERTICAL BEND (OUTSIDE) (LTCT) 600MM (SH. NO 8 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 260

21 RFW904650021
90 DEG. VERTICAL BEND (INSIDE) (PTCT) 600MM (SH. NO 9 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 130

22 RFW904650022
90 DEG. VERTICAL BEND (OUTSIDE) (PTCT) 600MM (SH. NO 9 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 130

23 RFW904650023
90 DEG. HORIZONTAL BEND (LEFT) (LTCT) 600MM (SH. NO 8 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 390

24 RFW904650024
90 DEG. HORIZONTAL BEND (RIGHT) (LTCT) 600MM (SH. NO 8 OF 11 DRG NO 3-
00-115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 390

25 RFW904650025
90 DEG. HORIZONTAL BEND (LEFT) (PTCT) 600MM (SH. NO 9 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 130

26 RFW904650026
90 DEG. HORIZONTAL BEND (RIGHT) (PTCT) 600MM (SH. NO 9 OF 11 DRG NO 3-
00-115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 130

27 RFW904650027
RIGHT HAND REDUCER 300MM TO 150MM (LTCT) (SH. NO 3 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 260

28 RFW904650028
LEFT HAND REDUCER 300MM TO 150MM (LTCT) (SH. NO 3 OF 11 DRG NO 3-00-
115-40205 & SPEC - TECI:NTPC:CT:013:REV04) 260

29 RFW904650029
CABLE THOUGH (SH. NO 10 OF 11 DRG NO 3-00-115-40205 & SPEC - 
TECI:NTPC:CT:013:REV04) 65

30 RFW904650030
M8 X 20 MM SCREW (SH. NO 02 OF 11 DRG NO 3-00-115-40205 & SPEC - 
TECI:NTPC:CT:013:REV04) 729332

31 RFW904650031
 M8 NUT  (SH. NO 02 OF 11 DRG NO 3-00-115-40205 & SPEC - 
TECI:NTPC:CT:013:REV04) 729332

32 RFW904650032
M8 WASHER (1ST=2NOS)  (SH. NO 02 OF 11 DRG NO 3-00-115-40205 & SPEC - 
TECI:NTPC:CT:013:REV04) 729332

33 RFW904650033
300MM PTCT 2MM THICK-NTPC (  (SH. NO 03 OF 11 DRG NO 3-00-115-40205 & 
SPEC - TECI:NTPC:CT:013:REV04) 180


